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Q2 A) Write (T) for the true statement and write (F) for the falsc one: (1 mark for cach)
1) The horizontal asymptote of f(x) = ;Ix—z , has an equation y = 0. - & (T)
2) i| ]21 10] = o, ST (F )
@ x?-6x-7 \‘;:é'7
3) Let f(x)= { x=7 ,be continuous at x = 7then @ = 4 . ¢ ( T")
3 2a, 1;7 —
— p-" \"\" _ ?
] d {it = (%)
A 02D, - )
A { =249
N =
B) Evaluate each of the following limits X'i b /l
L (P-uty . o g_‘
(U JL;I]( T ) = '5‘ (2 marks) (3} LI_IEW_ o= ) (|3 marks)
Vi -
tw X (X—Z) \ x(){-?.) —
|| e o =l =
}x/ X~ 2
S}‘* el o |
<
@ lim (”—““ﬂ) = (2 marks)
I » ‘ S'l“ '
I ax
? e |
1Y
--.._ o= _
..—2*/ _—~ TR o=
Zx—1, >3
C) Discuss the continuity to the function: f(x) = { o i (4 marks)
xt=4, x<3
D fe)
oy lise B
) 'w2x-1=5 [ = 4=5 V' ) =S
¥3¥ X—23 X ~3
L B Ceab o Fray 5E

X —3

P J wnt of x2z
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Q1 | Choose the correct answer (for ten ) of the following:  ( onc mark for cach )
If lim f(x) =2, lim g(x) = —4then lim[f(x) + (g(x))?]= - 10
(1] X+l X=rd x=qa
@ 18 by —14 8 ~& (d) 10 ﬂ
The derivative of f at x = a ,writlen f'(a),is given by -+
(2) [(a+h)-f(a) |
: i (AmTe i8S . ([lath)+[(a) . (f(a+h)=/(a) - ffh)=f(a)
@ Jim (C5) [0 i (1009 | @) iy (ML) oy fiy (L)
The vertical asymptote for the graph of f(x) = :Zi is equal to j
(3)
(a) x = -2 (b) x=TF2 @) x=2 (d) x=0 ‘
The function f(x) = 2 — |x + 1|does not satisfy Rolle's theorem on [-2,0] because - l
(4) ) Im——— N
(a) —1 & domain of f (b) f(=2)+ f(0) (©) fxssdnmlcontmuous . @ ’: 5ot dllfTerennable
= atx = —
2 i
: For f(x) = (x+ 2)3,then f"'(-1) =
5)
Z 2 2
(a) -2 iC) -: © @ 2 |
©) The value of Bsothat f(x) = 2x% — 3Bx, has a critical number at x = 3 is -+
4 b) 2 © 0 d -3
I 0 Let f(x) be a differentiable function, such that f'(1) = 4, then %(xz + f))|x=1 = ...
(a) 2 (b) 4 © 5 I 6
® The slope of the line tangent to the graph of y = e™** at x = 0 is ---
(a) 2 by 1 o] -2 (d) —2e
Given the graph of f' f'(x) '; rh " ¢ <
. . g A .‘"" - = mq
X pU o \f/\@ =
=-4 \> w54 3%l 4334+ A8 ' b\“" I
| X ~
| - I
h__ (from the above figure) One of the critical numbers of f(x) is -
9
® (a) x=-5 (b) x=-2 xX=5 d) x=4
. (from the above figure) The interval on which f(x) is increasing only is -
I Y
U0 Mo o). O s @ =46 @) _[5.20]
___-l i -(from-the-above-figure)-The-x—coordinate-on-which-£(¢)-has-a-local-minimum is-----
@ x=-4 b) x=-3 © x=1 ) x=5 l
A -
12) (from the above figure) The interval on which f(x) is only concave downward is- - }
(a) (o0, —2.5) (b) (=2.5,4) (c) (1,4) [CHEERD |
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y=-5

¢

2
2) y =x3cosx — 3*

n
X

s v T

ZK-IZJJ = S

2K=P%fﬂ

B) Find an CquTIOII ofthe tangent line to the curve: x2 — 4y* = 0 at the point (2, 1)
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A) Find d_ to cach of the follmunj: functions: (3 marks for each)
ghXs ~
Gy = In(S2%)

Yl X +asin —-'-‘— v (¥+3)

Snn( B -_ ( XTJ

L

Calx

(4 marks)

mo S

12,
C) Find the absolut; extrema of f(t) = tV4 —t? on the interval [—1,2]. (2 marks)
1
'F('H =8 | ‘
don e
| fd)=o P e
¢ e e | S
I ) %0 [qqr =0
{2 2dty y-1"=%
—t =1t = & .._(2:1__ kI-:Jf:Z
. _q"i‘;__t! B — —
¢2 2 ff=(z'e(l;?-)J =2 FA\r
-+ Yt , "
— =0 =1 t=-¢ f42l
= £ €(12) | 15
q-42
4 B N
ir 21440-1439 Lralal aladl- LU gulydl uadll= Ll sLasyl 2 maq X
' (5 4 4 dniiall)(A) 3 gaid] (4 150) Jiolitll csluws Y ;
’ =\ |=f3 mu
—_— '




,,,,,

- == T mTE—— e

A) Let f(x) = x3 — 6x% +12x, find the following:

e

(1) The interval(s) on which f(x) is increasing | (2) Discuss the concavity. (2 marks)
and on which f is decreasing, (2 marks) I
fw=o

\
fy=0
N 12 = 0

(3) The inflection point of f(x). (one mark)

B) Show that f(x) = x* —3x +1, satisfies the condition of the mean value theorem on the interval
[1,3], and then find the number ¢, that satisfies the conclusion of the theorem.

1) Ff%]fi%n,l'c'r\[!?]] PQ‘J ) 24-8 = I
z) fi) o WK -0 (L, 3)5 fa\;__
2] = §@1-E0) 2% =4

X-3 = ar x=26(}3

(3 marks)

10

A —_—

—mEza i —

PTGl 2 B ) 28 UG & o Rl 25

5
21440-1439 oLl alall- L) gulyull Jyaddl= L) jLasy|
(5 00 5 Amanall) (A) 5 gaill (42 150) Juslatdl olas



